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Aufgaben-Quickname: 7784

Aufgabe 1

Berechne.

A T 7] o [ 26 ] P = [ a3 ] 20 55
24 43
19 7
23 10

O v 1 s [ 19 13 D + ] 3 [ 66 | 31
33 7
42 21
66 33

Aufgabe 2

Berechne.

) T 15 23] P - T2 20] 31
29 41
41 39

O - T a3 36| 12] Y[ - a2 18] 2
41 27
47 25

Aufgabe 3

Berechne.

a)[ . 69 | -100 | -329 | 138
246

701

387
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D) T3 [ 111 [ 613 | -731
61
120
175

O = [ 309 [ 207 [ 36 | 443
65
376
2200

- 75 | -227 | <135 | -505
264
449
288

Aufgabe 4

Berechne.

) 57 [ a3 [ae | P[] 20 ] 38| 68
39 7
27 19
7 25

I+ Ts6 | 7726 ] D[ + [ 7] 2] 4
8 14
3 10
20 2

Viel Erfolg!
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